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— HOWO’L@/‘ Show work on pages 65 & 66 //5

-9 . Determine the equation of the line that passes through the points:

— — 1. (1, 1) and (3, 5) 2. (80,—20) and (30, 10) - ——
;aL — 3. (=6, 11) and (—4, -3] 4. (8,—3) and (—4, =3).

e - -
-~ ' 5. Solve and graph the solution of the inequality:

b — 9x — 24 > —4(3x — 8) e
- N S - 6. Given the expression 5xZ - x + 3. State the constant, coefficient of [
— X, and the number of terms in this expression. : T
: - ~ Constant: 3 Coefficient: _— / Term(s): = o

. :2 _ 7\5 Shp* _ o C/ T
> & __S/_Qﬂ.ﬁ,_.:w R e A (222X _# 1
Xz-X, /7 (2)(] )7 b

e fop el
o aghk - 2 =2 .
e Y oD ) 2/
=

| funtrars i5 y ettt )

)944'7‘77_2/1.__/4_. SM% / rr2 3¢ 215 /jO//OJ
= 2)__& X2 l/ SRR, St M_Lﬁj,/é@) 7‘6 —

) - 0SI0a) D= ke £
o j&;’@_ A 5 gi_f/ il
_m=z207"% @
5} sl ol .

%'M,JJJ w72 /S L] )( 7‘&/




RS e ‘_7{9)(*{/)

i

J

N

i§§

h ~

|

|
fnnnn

Ll

L

hori>etall
/712 €

X 20 -Max » 52
~/2x A/

TOSX XS T2
AN T oY

hhb#ﬁddﬂ»hnbb*ﬂﬂnhhk




